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Lesson 7.3: Day 1: How tall are we?
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As Lou Wish

How tall are high school seniors in Michigan? Attached are the heights of all 50 high school
seniors at a small high school in the upper peninsula.
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1. Make a guess at the mean of all 50 students. Make another guess of the standard
deviation of all 50 students.

M=1pg9 0=90

2. Select a random sample of 5 students and calculate the mean height for the sample.
Repeat for 4 samples total.
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3. Add your sample means to the dotplot on the board. Sketch it below.
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Q’éﬁk . Compare the two dotplots above. How are the dotplots similar? How are they .
TGRS oF oo¥h ore Similar (rougnly symmeTicy
~Conttrs 0re Yoot ok 1 em - s TheStatsMedic



Name: _

Hour: _ Date:
Lesson 7.3 Day 1 — Sample Means
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Check Your Understanding

The length of human pregnancies from conception to birth varies according to a
distribution that is approximately Normal with mean 266 days and standard deviation 16
days.
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1. Find the probability thaandomly chosen pregnant woman has a pregnancy that
lasts for more than 270 days.
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Suppose we choose an SRS o@negnant women. Let X = the mean pregnancy length
for the sample. N=Ll
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2 What is the mean of the sampling distribution of xX? D/b{; 3_/4 = Zé{,

3. Calculate and interpret the standard deviation of the sampling distribution of X Verify
that the 10% condition is met. [
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4.Find the probability that the mean pregnancy length for the women in the sample

exceeds 270 days. O
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